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Abstract of the contribution:

This contribution proposes some requirements for single-radio CS-PS handover

Introduction

SA2 currently specifies an architecture, which enables continuity of voice calls between PS and CS access domain (see TS 23.206, Voice Call Continuity between CS and IMS). This work has mainly been focused on solving the case where the PS RAT is WLAN, and not considered requirements arising out of 3GPP RATs in the PS domain.
In the following requirements are discussed which are focused on single-radio CS-PS handover involving 3GPP PS RATs.
Discussion

In the following desirable characteristics for proposed solutions are listed: 
· The solution shall not require UE and/or RAT capability to simultaneously signal on two different RATs.

· 
· Impact on service quality, e.g. QoS, interruption times should be minimized 
· RAT/domain selection/change should be under network control.

· In roaming cases, the Visited PLMN should control the RAT/domain selection/change while taking into account any related HPLMN policies

· Inter-domain handover in the VPLMN should be performed without significant amount of signalling to the HPLMN.

· 
· Impact on legacy RAT is highly undesirable
· Impact on legacy CS CN is undesirable
Conclusion

It is proposed that 3GPP SA2 adopt the content of above ‘Discussion’ section in the TR 23.882 into section 7.x.1.1 Description of key issue Voice call continuity between IMS over SAE/LTE access and CS domain.

A solution shall be specified with the least possible complexity.  If the solution is based on current VCC, then SA2 should study how VCC can be extended to support the above requirements without becoming overwhelmingly complex. An analysis of alternative solutions should be part of that study in order to identify the best solution.
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